KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

CRIGINAL

Form ACO-1 June 2009 Form Must Be Typed Form must be Signed All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # 31171	API No. 15 - 163-20203-00-01			
Name: Continental Operating, Co.	Spot Description:			
Address 1: 1 Houston Center, 1221 McKinney, ste 3700	SW_SW_SE_Sec18_Twp9_S. R19East [V] West			
Address 2:				
City: Houston State: Ks Zip: 77010	3,300 Feet from East / West Line of Section			
Contact Person: Greg Mitschke	Footages Calculated from Nearest Outside Section Corner:			
Phone: (713) 209 - 1110	□ne □nw □se Øsw			
CONTRACTOR: License #_ 32128	County: Rooks			
Name:Western Well Service	Lease Name: Rempe Well #: 1			
Wellsite Geologist: none	Field Name: Marc			
Purchaser: Plains Marketing L. P.	Producing Formation: Arbuckle			
Designate Type of Completion:	Elevation: Ground: 2075' KB Kelly Bushing: 5'			
New Well	Total Depth: 3572' Plug Back Total Depth: 3572'			
	Amount of Surface Pipe Set and Cemented at: 207' Feet			
[☑] Oil	Multiple Stage Cementing Collar Used? ☐ Yes ☐ No			
☐ OG ☐ GSW ☐ Temp. Abd.	If yes, show depth set: Feet			
CM (Coal Bed Methane)	If Alternate II completion, cement circulated from:			
Cathodic Other (Core, Expl., etc.):	feet depth to:w/sx cmt.			
If Workover/Re-entry: Old Well Info as follows:				
Operator: Kathol Petroleum Inc.				
Well Name: Rempe #1 twin	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)			
Original Comp. Date: 5 - 6 - 69 Original Total Depth: 3579	Chloride content: fresh water ppm Fluid volume: 150 bbls			
☐ Deepening	Dewatering method used: steel pit			
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:			
Commingled Permit#:	Operator Name: Continental Operating Co.			
Dual Completion Permit #:	Lease Name: Stamper "C" License #: 31171			
SWD Permit #:				
ENHR Permit #:	QuarterSec. 32 Twp. 8 S. R. 17 East West			
GSW Permit #:	County: Rooks Permit #: E26,843-0003			
3 - 23 - 2011 4 - 20 - 2011 5 - 10 - 2011				
Spud Date or Date Reached TD Completion Date or Recompletion Date				
of side two of this form will be held confidential for a period of 12 months if req	oriversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information juested in writing and submitted with the form (see rule 82-3-107 for confidentifications) and submitted with this form. ALL CEMENTING TICKETS MUST			
AFFIDAVIT	KCC Office Use ONLY			
I am the affiant and I hereby certify that all requirements of the statutes, rules and relations promulgated to regulate the oil and gas industry have been fully complied	regu-			
and the statements herein are complete and correct to the best of my knowledg	l Data			
0	Wante the Complete			
Signature: Ralph W. Brung aut Title: Procl. Supt. Date: 7-10-11				
Title: Procl. Supt. Date: 7-6-11	Geologist Report Received 2 29/11			

JUL 1 4 2011

Operator Name: Contin	nental Operating	<u>, Co.</u>		Lease	Name:f	kempe		Well#:1		
Sec. 18 Twp.9	_s. r. <u>19</u>	East	✓ West	Count	y: Rook	s			•	
INSTRUCTIONS: Show time tool open and close recovery, and flow rates line Logs surveyed. Atta	d, flowing and shut- if gas to surface tes	in pressu t, along w	res, whether s ith final chart(:	hut-in pre:	ssure reac	hed static le	vel, hydrostatic pr	essures, bottom l	hole temp	erature, fluid
Drill Stem Tests Taken (Attach Additional She	eets)	Ye	s 📝 No		Lc	g Form	ation (Top), Depth	and Datum	_	Sample
Samples Sent to Geolog	ical Survey	☐ Ye	s 🗸 No		Name	9		Тор	(Datum
Cores Taken Electric Log Run Electric Log Submitted E (If no, Submit Copy)	Electronically	☐ Ye ☑ Ye ☐ Ye	s 🗌 No							
List All E. Logs Run: Cement Bond, (Gamma Ray,	Neutro	on, CCL							
		Repo	CASING	RECORD	_		duction, etc.			
Purpose of String	Size Hole Drilled	Siz	e Casing (In O.D.)	We	eight s, / Ft.	Setting Depth	Type of Cement	# Sacks Used		and Percent dditives
Surface		8	5/8	N	/A	207'	N/A	145	N/	A
Production		5	1/2	N	/A	3548'	N/A	150	N/A	
Production		4	1/2	1	1.5	3556'	60/40, 4%	gel 300 .5% CD-31/defoa		31/defoamer
·····			ADDITIONAL	CEMENT	ING / SQL	EEZE RECO	ORD			
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone	Depth Top Bottom	Туре	of Cement	# Sad	ks Used		Туре а	and Percent Additives		
Shots Per Foot			D - Bridge Plug Each Interval Per)	Acid	Fracture, Shot, Cen (Amount and Kind o		rd	Depth
open hole						1500 gal	15%			
						2500 gal	28%	· · · · · · · · · · · · · · · · · · ·		
					_					
TUBING RECORD:	Size:	Set At:		Packer	At:	Liner Run:	✓ Yes	No		<u>. </u>
Date of First, Resumed Pr	oduction, SWD or ENI	łR,	Producing Met	hod:	oing	Gas Lift	Other (Explain) _			
Estimated Production Per 24 Hours	Oil E	Bbls.	Gas	Mcf	Wat	er 100	Bbls.	Gas-Oil Ratio		Gravity
DISPOSITION ✓ Vented Sold (If vented, Subm	Used on Lease) Open Hole [Other (Specify)	METHOD (DF COMPLE Dually (Submit A	Comp.	Commingled (Submit ACO-4)	PRODUCT	ION INTER	VAL:

Mail to: KCC - Conservation Division, 130 S. Market - Room 2078, Wichita, Kansas 67202

RECEIVED

JUL 1 4 2011



PO BOX 31 Russell, KS 67665

Voice:

(785) 483-3887

Fax:

(785) 483-5566

Bill To:

Continental Operating Co.

P. O. Box 52 Hays, KS 67601

		W	(0)		(C.	
Ľ	E4 \	77.	1	Ŀ	40.	

Invoice Number: 126960

Invoice Date: Apr 20, 2011

Page:

1

Customer ID	Well Name# or Customer P.O.	Payment Terms Net 30 Days	
Cont	Rempe#1		
Job Location	Camp Location	Service Date	Due Date
KS2-06	Russell	Apr 20, 2011	5/20/11

Quantity	Item	Description	Unit Price	Amount
180.00	1	Class A Common	16.25	2,925.00
120.00		Pozmix	8.50	1,020.00
10.00	MAT	Gel	21.25	212.50
129.00	MAT	CD-31	9.35	1,206.15
310.00	SER	Handling	2.25	697.50
55.00	SER	Mileage 310 sx @.11 per sk per mi	34.10	1,875.50
1.00	SER	Liner	2,125.00	2,125.00
110.00	SER	Pump Truck Mileage	7.00	770.00
110.00	SER	Light Truck Mileage	4.00	440.00
1.00	EQP	4.5 Rubber Wiper Plug	44.00	44.00
1.00	CEMENTER	Glenn Ginther	. "	
1.00	OPER ASSIST	Woody O'Neil		
1.00	OPER ASSIST	Mark Radke		
		Subtotal		11 315 65

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 2265 13

ONLY IF PAID ON OR BEFORE May 15, 2011 Subtotal 11,315.65
Sales Tax 712.89
Total Invoice Amount 12,028.54
Payment/Credit Applied 12,028.54

RECEIVED
JUL 1 4 2011

KCC WICHITA

P.O. BOX 31		SERV	ICE ROINT:	J.=
* RUSSELL, KANSAS 67665			of sell	<u> </u>
SEC. TWP. RANGE CAL	LED OUT	ON LOCATION		JOB FINISH
ATE 4-20:201 12 205 24W		<u> </u>	COUNTY	11:30Am
	21374	4 W 70	COUNTY ATOMYS	STATE KANSAS
	A LU AN	12.12		
OLDOR NEW (Circle one)				
CONTRACTOR Western Well Specice (CORY)	OWNER		. <u>.</u>	
TYPE OF JOB COMENT LINER (412)				
HOLE SIZE T.D.	CEMENT	50	65/	1911
CASING SIZE 4/2 LINER DEPTH 3552	AMOUNT ORE	PERED) <u>5</u> X/40	42GEL
TUBING SIZE 11.60 # CSQ DEPTH		2 0F 1 Z	6 CD- =	3.1
DRILL PIPE (LICENIA) DEPTH		W DEF	od un ek	
TOOL DEPTH	COMMON	180	@ 16,25	292510
PRES. MAX 1500 # MINIMUM 500# MEAS. LINE SHOE JOINT	POZMIX	120	@ 8·8v	1020,00
MEAS. LINE SHOE JOINT CEMENT LEFT IN CSG.	GEL	10	@21,25	212,50
PERFS.	CHLOR!DE _			
DISPLACEMENT 55/2801	ASC		_@	
EQUIPMENT				
DQ OAL WALL	CD-31	129#		1206.15
PUMPTRUCK CEMENTER CONTENTS				
# 398 HELPER WOOD		<u> </u>	@ @	
BULK TRUCK				
# 423 DRIVER MARK				
BULK TRUCK				
# DRIVER	HANDLING_	3/6	@ <u>2.25</u>	
	MILEAGE	11 /5/c /mil	<u> </u>	1875750
REMARKS:			TOTAL	. 7936,63
RAY NEW 45 SCREW-TOMETHER.				
Lines (11.60+66) SOT @ 3552		SERV	ICE	
LOAD, Hole of Reciero Cieril ATICHE			<u> </u>	
MIYED 300 SX 940 42 GOL 120F170	DEPTH OF JO			2/2514
CD-31 (FRITION REDUCER W/ DEFCOMER). (1802-		CHARGE	@	01/2010
LINE + Reloose Rubber Plug Dispher	MILEAGE		@ <i></i>	770,W
Robers D PROSURE & FIGHT HELD.	MANIFOLD		@	
THOM S				
7 7777	- 60	~ 110	@ 4,00	440, w
CHARGE TO ONTENENT OF OPEC.				_
CHARGE TO DATENEAT AL CHARGE			TOTAL	<u> </u>
STREET				
CITYSTATEZIP			Y FALIDME	NΤ
CITYSTATEPLUG & FLOAT EQUIPMI				
	14. 0.00	l-autora Pl		44,00
	T'S NOY	ED WIFER PH	g @	
		· · · · · · · · · · · · · · · · · · ·		
To Allied Cementing Co., LLC.			@ECEN#	<u> </u>
You are hereby requested to rent cementing equipment			@	<u> </u>
and furnish cementer and helper(s) to assist owner or			JUL 14:	2011
			1400	

KCC WICHITA